BIEH Ea—F 08000080 09000570 09000700 09522740
e S A J\&)I[37] O PiR EKERKO [IBHE FTAE
XEFEAH ER28FE108148 | FR28FE10H 148 [Fr28%E10A138 | FER28FE10H13H
KRS 12:50 8:54 8:45 9:28
SREESR EERE EERE EERE EERE
3B 7 5 S LETRERL2E |LETRERL2E |LETEREREE |LETEREREE
IR FNTI/R FNTFo/RX FNTo/X FNTI/X
TR sNTo/R BN TI/R BN TI/R BENTI/R
Kix s {£Y {£Y <Y
IKEE m 0.1 0.8 3.0 2.3
iR °C 24.5 16.5 17.8 18.6
& =RIEKE °C 22.3 16.3 215 20.4
3 E T °C 21.7 _ 16.5 _ 21.2 _ 20.4 _
E RERE IORVIN=UF |TORVIN=UFE  |TIRVN=UFE [ TORVN=UK
g S 0~5cm>E i 0~ 5cmE i 0~5cm*E i 0~5cm>E i
5157 b b JLE-ED LB
(=X /e xB 2136 xB
BRI HL HL m HL
BE&2 ZDith
pH 7.8 6.8 7.6 76
—|COD mg/g 10.3 6.6 1.0 1.6
% SRV E % 0.7 5.2 1.2 15
15 (1t mg/g 1€0.1 <0.1 <0.1 <0.1
H|&KkE % 12.9 294 18.5 20.4
gL E T ELL mV  |+280 +307 -42 -1
7] wue/gl5.2 24 48 5.9
Y& /g |39 100 25 33
IS 1 g/g]9900 18000 7000 8000
H|w Ay 1 g/g 280 610 120 150
B(/roL ug/gll 7 2 3
=7 Le/g
HEIH L 1 /g ]<0.05 0.32 <0.05 <0.05
i’ £ ne/gl6.s 19 3.8 7.2
s o0 L 1 eg/g |05 <0.5 <0.5 <0.5
EES pe/g|l.4 10 1.5 24
2 #a7K ER 1 g/g]0.03 0.02 <0.01 <0.01
7 ILEILIKER 1 g/g 1<0.01 <0.01 <0.01 <0.01
PCB i g/ 1<0.01 <0.01 <0.01 <0.01
FoE—7REER | ue/e
T | BHEBERR Ue/s
D (EREER Ue/s
ith [ HHEREE= S Le/s
DIEEHR 1 eg/g |30 1300 120 69
IH (BhERAE 1 Ue/s
=NES ve/gl72 330 95 120
SERRE mg/g




BIEH Ea—F 09625870 09726920 09726940 09623780
e 5 4 [EEZ Z&’E mEANT PN
XEFEAH ER28FE108138 | FR28FE10H13H  [Fr28%E10A138 | FR28FE10H13H
KRS 10:05 10:40 10:52 9:05
SREESR EERE EERE EERE EERE
I 7E 48 R LETRERL2E |LETRERL2E |LETEREREE |LETEREREE
IR FNTI/R FNTFo/RX FNTo/X FNTI/X
TS PNTI/R BPNTo/R PNTI/R pNTI/R
ESE <HY {£Y {£Y <Y
IKEE m 2.8 2.3 8.0 26
iR °C 20.8 21.3 224 18.0

& =RIEKE °C 21.5 21.7 21.7 21.6

3 E T °C 20.2 _ 214 _ 21.2 _ 20.8 _

E %HS(;‘% IHOIN—=Uk | TORN=D%k [ToUN=U | THUN—D%

g ENE 0~5cm>E i 0~ 5cmE i 0~5cm*E i 0~5cm>E i
5157 2 ILk <Lk <Lk LB
(=X REE [REE REE [REE
BRI 55 55 55 [
BE&R2 HIL KRR i KHER WL kKER Z Dt
pH 7.6 7.6 7.6 7.8

—|coD mg/g 18.7 9.0 25 3.6

% SRV E % 5.6 3.9 22.0 1.8

15 (1t me/g 0.4 0.1 2.3 <0.1

H|&KkE % 27.8 235 68.7 21.6
gL E T ELL mV  J+1 -127 -133 —65
7] ue/sl27 19 180 9.6

Y& 1 g/g 100 74 520 34

IS 1 g/g 117000 10000 41000 7400

B oy 1 g/g |250 170 560 130

B(/roL ug/gld 5 59 3
=7 Le/g
HEIH L te/s]0.27 0.15 1.4 0.05

i’ £n te/g]18 12 87 7.2

s o0 L 1 eg/g |05 <0.5 <0.5 <0.5

EES pe/g1.0 3.9 21 25

5 K ER 1 g/g10.05 0.03 0.19 0.01
7 ILEILIKER 1 g/g 1<0.01 <0.01 <0.01 <0.01
PCB i /g [<0.01 <0.01 0.05 <0.01
FoE—7REER | ue/e

T | BHEBERR Ue/s

D (EREER Le/g

ith [ HHEREE= S Le/s

DIEEHR 1 g/g]690 760 5500 240

IH (BhERAE 1 Ue/s

HI|2& 1 g/g 280 180 1000 120
SERRE mg/g




BIEH Ea—F 09624820 10000100 32900000
TR S A BEXE Hi#tE iR EF =EE
XEFEAH ER28FE108138 | FR28FE10H 148 [Fr28%E 108138 | FER28FE10H 14H
KRS 9:50 14:05 11:15 10:25
SREESR EERE EERE EERE EERE
3B 7 5 S LETRERL2E |LETRERL2E |LETEREREE |LETEREREE
IR FNTI/R FNTFo/RX FNTo/X FNTI/X
TS PNTI/R BNTo/R PNTI/R pNTI/R
Kix <BY s {£Y <Y
IKEE m 2.9 0.5 14.8 3.7
i °C 20.1 234 21.5 230
& =RIEKE °C 21.6 19.3 23.4 19.3
a1 E T °C 21.2 _ 20.4 _ 222 _ 19.6 _
1 REUK TIRVN=5k |TORVN=UF  |TIRVN=Dik  [THORVN—TFK
g S 0~5cm>E i 0~ 5cmE i 0~5cm*E i 0~5cm>E i
5157 LR E b <)Lk b
(=X 2186 =) REE 2186
BRI [ HL m HL
BE&R2 ZDfth HRILKFER
pH 7.2 7.4 7.7 7.4
—|coD mg/g 2.1 0.5 6.6 4.2
% SRV E % 1.6 0.5 5.2 2.1
15 (1t mg/g 1€0.1 <0.1 <0.1 0.1
H|&KkE % 19.8 19.2 32.0 25.3
gL E T ELL mV  J+13 +289 -36 +75
7] 1g/g16.9 3.6 15
Y& te/s]28 22 82
IS 1 e/g 7100 4400 13000
H|w Ay ue/g|120 120 270
BlryoL ©e/gl3 <1 5
=7 Le/g
NP 1 g/g |<0.05 <0.05 0.14
s o0 L 1 eg/g |05 <0.5 <0.5
LES Ke/g]2.2 1.1 43
5 K ER 1 g/g [€0.01 <0.01 0.08
7 ILEILIKER 1 g/g |<0.01 <0.01 <0.01
PCB i g/ 1<0.01 <0.01 <0.01
FoE—7REER | ue/e
T (BEREESR Ue/sg
D (EREER Le/g
ith [ HHEREE= S Le/s
DIEEHR 1e/s)180 59 310
IH (BhERAE 1 Ue/g
=NES ue/g 120 45 210
SERRE mg/g
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TR Hh 5 4 TR
2IEFE A H ERk285 108148
KRS 9:50
SREESR EERE
3B 7 5 S LETREREER
FREHE RS hanTH /R
S TR b5 FH /R
ESE <Y
IKEE m 2.5
iR °C 17.2
& =EKE °C 19.8
) R T a7
18 [EBUE IORUN—Tik
g ENE] 0~5cm>E i
5188 b
(=X PR
BRI L
252
pH 7.5
—|COD mg/g 10.6
% SRV E % 1.2
15 (1t mg/g |<0.1
H|&KkE % 24.2
gL E T ELL mV  |+257
£l Ue/e
Y| &R Ue/s
U ES Ue/g
Bl hy Ue/s
ER]=PN ue/'s
=7 Ue/g
;JI:E'?.L\ Ue/s
£ Ue/e
Rz Ue/e
15 fit= Ue/s
g a7k 8B Ue/g
7 ILEILIKER Ue/g
PCB Ue/s
ToE—J % | fe/s
T (BEREESR L1e/g
D (EREER Ue/s
fth (EEER Ue/g
DNEESE Le/sg
IH (BhERAE 1 Ue/g
ERES Ue/s
SERRE mg/g




BIEH Ea—F 33000005 33000007 33000010 33000015
e 5 4 BE#hs33—5 Eh533—7 E#h54£33—10 B#h4£33—15
XEFEAH E28FE11H28 | FRk28F11H28  [Fr28FE11 A28 |FER28FE11H2H
KRS 10:45 10:38 10:30 10:18
SREESR EERE EERE EERE EERE
I 7E 48 R N & B &t
RIEHE (3%) BARLEEE | EARLERE> [ BAELEEE | BHREERSF
TR R BXRELERF GO HAELEHS | BALREHY | AXLEREF
PR i g i i
IKZE m
iR °C 15.6 15.0 14.7 14.5
& xEKE °C
3 E T °C 21.3 _ 21.6 _ 21.3 _ 20.2 _
15 R IUA TIRVN=UFK  |TORVIN=DK  [TGRVN=DF | TIRVIN—UK
g SN 0~5cm*E i 0~5cm*E i 0~5cm*E i 0~5cm*k i
5157 2 ILk <Lk <Lk LB
(=X ERE 2K kiR ERE
BE&1 HL [ HL L
BE&2 i KHER
pH 75 7.6 7.7 7.9
—|coD mg/g 131.4 37.0 37.6 8.8
% BaEEE % 10.9 10.4 11.5 28
15 (1t me/g [0.18 0.21 0.23 0.06
H|&KkE % 53.0 53.5 63.2 21.7
gL E T ELL mV
7] 1g/g]170 290 130 28
Y& 1 g/g 420 570 500 81
IS 1 g/g |26000 32000 33000 7100
H|w Ay 1 g/g |460 460 650 260
B(ooL ue/s |9 23 75 <4
=7 Le/g
HEIH L te/s]1.85 2.18 1.60 0.19
i’ £n 1 e/g]101 112 132 15.9
s o0 L ve/g |2 <2 <2 <2
EES te/g]8.9 9.5 12 26
5 K ER ue/gl1.72 1.82 6.05 0.08
7 ILEILIKER 1 g/g 1<0.01 <0.01 <0.01 <0.01
PCB i g/g10.04 0.04 0.04 <0.01
FoE—7REER | ue/e
T | BHEBERR Ue/s
D (EREER e/
ith [ HHEREE= S Le/s
DNEESE Le/sg
IH (BhERAE 1 Ue/s
ERES Ue/s
SERRE mg/g




AEH mI—F 33000019
TR A2 ) 33000025 330
BEES Er26% 1128 T (S Rase TR S3h5%E33—28
AR = 09:39 3 A28 Frk28F 11428
T EERE F=1 09:34 :
AIE 12 = EHRE EERE oo
:BE:FEI. %F;g E%E) Ry I I/:"l:lfﬁ lI—E"Fﬁ ;E-E*ﬁﬁ
PRk RIS (%) EABATE |(h) EARSHE 20
I H S NiE T T ) AR AFE () B P "ZZ _'—;’_ () BAR{EL SRS
K& o i N G BACHT (W BARCHT
Sim °cC__ 1147 - = -
g | REXE °C ' 147 14.7
) [ B °C__ 200 ' =
a e P M AP ) 29
= ~ by Vi I > NEERE y
SLER g)sﬁm*;ﬁ 0~5cmXE i / 035::/5/'5\% Dk |TIRIN—DiK
B18 2RE Eatds . 0= SomA i
C g A ERE REE T
552 s 72 e
pH 77 ibKER gL
—|cop : 1.7
/ 7.
& R E e ¢ (902 217 o 78
15 (1t mg/g 0-70 8.6 7 8 2]
B [&KE % [393 0.14 024 70
e A VA 503 26.8 0.19
) - - 42.8
SAEER 5?" ok 20 35 T
- 11 g/ |20000 150
BHRLAY 1 g/5 300 2200 20000 70
Bz L4 1 g/g |<4 450 390 17000
=D m gég 2 13 320
1 pESDA U e/& 05T 051 .
g |22 e/ : 0.22
s N (iz=FN u g/i §(2)7 30.7 30.6 0.33
IH pe/gl1.0 <2
g [HE7KR 1 g/ [0.08 6.9 5.2 <2
7 L% ILKER ' 0.12 2.0
1 g/g |<0.01 0.12
PCB 1 ¢/ |<001 <001 <0.01 21
FOE—_JRE% | e ' 0.01 2001 <00]
T MR ' _—
O[BBREEE  [ues
fi ;ﬁ%ﬁ'ﬁg» 2 Ke/g
DI2EF Le/g
IEE g%%ﬁé Le/g
) _ ue/s
SEBEE  Ime/e




S'E—“frﬁig"ﬁ“j_': 33000001
EiEHh 54 3
R 710N g‘ 3000003
;:'EEH A %;%3633_1 Eih433—3 33000037 13000
e TELETIAZE L Erzesti F2E S Sotaring L1
HH B A48 e 11 AR 284F 11 =
A1 EE@E /J%’_Jégffﬁﬁ 09:14 H28 ?Zﬁk28¢1 15148
%E;ﬁﬁ E\ﬁ?;_ AA#BES EXid EEEE E'—%s*ﬁﬁ
737 NRATE | (& B 2
EE i_Eg ( ﬁi) EZK "}Z k2] .:j. (_70 EZK“%\“% :5 E? (;-"I_-ﬁ ,—IEL-T‘FJ
& 7 BEBT () AARATZ %) BRBETIE |
TKZE - B [ BERZE | BARBRESESF "f) BARLERF
i % B TR = e o (%) BARLESEZE
g [REKE G 16.1 15.8 2y
p:l| -;E';”E’I{ °C 208 14.6 =5
= Egi’é THRON—S0 21.3 2 .
B = O~ = Dk | TIRIN=D; 12 14
SLER S5cmAK i O~ = 2k IHTIN—T3 8
£ LB B e T e T
E'iu E‘ﬁ@ %ﬁ@ﬁ <Lk g}\"50m5ﬁiﬁ
R 5.2 gL 7L RERE =
pH 2L HiHt
2 RS me/g 1158 365 1.7 7
EE ﬁf‘ SRR me/ 0'4 110 18.4 0'8
=T EAT : - 0.18 -
.,ﬁ] I=2JT EE,{_L ij/ 49.9 55.8 <0.01
3 g/g |42 : 9.0
I — 1 g/g]100 35
H|wHY Y 00 47000 150
BlroLi g/g 1380 20000 27
= I i 560 4200
{/7-)[, Y 100 570 ]
AREI L ug7g 59 10
i’ 0 g/g 0.28 T <4
b [<EZEL s T 047
e ue/el<2 68 35 <0.05
B ue/g|27 <2 o 22
H ;‘,bf ug/glo.14 22 Y <2
KR Tus/s <00 122 8 205
= LB 0% <0.01 %o <001
VE-THEE ' ' <0.0 -
BRAESE <0.01
O [BBREER He/g <0.01
e e he
;D SRR /s
EE g%%ﬁ'ﬁé i/
= ue/
2EEES - ng




BIEH Ea—F 14000230
e 5 4 BEXFE
2IEFE A H ERi285E 118148
KRS 10:10
SREESR EERE
3B 7 5 S &t
FREHE RS (%) BARBERIZE
S HTHERS (bf) AR ERIF
Kix <Y
KiE m
iR °C 15.8
& xEKE °C
[ ER LS [TV E—
15 R IUA TYIVIN=Dik
g ENE] 0~5cm>E i
5188 [N
(=X R
BRI HL
252
pH 7.8
—|COD mg/g 10.8
% SRV E % 0.7
R ENTRIR) mg/g [<0.01
B[&KkE % 11.3
gL E T ELL mV
il te/sl45
Y& Ue/gl37
IS 1 g/g |4900
E(v Hy tg/g 180
B|yOL ©e/g <4
—v )L Ug/s
HEIH L 1 g/g]0.13
1@ ﬁll:} ueg/gl3.1
e iy 0L Ug/g L2
15 fit= (1 e/g]0.9
g K ER 1 g/g]<0.01
TILEILKER 1 g/g }<0.01
PCB i /g [<0.01
ToE—J % | fe/s
T (BEREESR L1e/g
D (EREER Ue/s
fth (EEER Ue/g
DIEEE Le/sg
IH (BhERAE 1 Ue/g
HI|2& Ue/e
SERRE mg/g




BIEH Ea—F 36000001 36000002
e 5 4 BB imiE#Er2
2IEFE A H ER28FE9H308 | TFRR28F9H30H
KRS 14:50 15:10
SREESR EERE EERE
A TEHE RS 2l f2luh
FRIEHERS BEARBERSF IR A oA
VAR AES (=] 2< pElE (A REGHP
Kix <Y {£Y
KiE m 13.5 16.0
iR °C 23.5 23.3

& =RIEKE °C 26.8 25.7

3 JE T °C 25.9 _ 25.4 _

15 R IUA TORVIN=DK  [TIRVIN—=DK

= S 0~5cm*E i 0~ 5cmE i
5157 )Lk E <Lk
(=X ERE [REE
BRI HL %
BE&2 i KHER
pH 7.7 8.0

—|COD mg/g 17.5 36

% SRV E % 1.4 10

15 (1t mg/g 0.09 0.55

H|&KkE % 16.6 64.2
gL E T ELL mV
il te/gl10 59

Y& U e/g 149 230

IS 1 g/g |11000 41000

H|w Ay ueg/g)310 940

ER]=PN ue/glia 22
—viZL ug/gl10 32
HEIH L 1e/g]0.3 1.3

1@ ﬁll:} ueg/gl9.4 40

e AN ZA=PN pe/gl ™ B H 1~ B’ H

EES Ke/g]2.9 6.5

g K ER 1 g/g]0.02 0.12
FILFEILIKER Ue/s
PCB pe/s1F H s
=4 FEANTI 18

T | BHEBERR 1 g/g]0.034 0.035

D (EREER 1 g/g]0.068 0.035

ith [ HHEREE= S g/g

DNEES 1 g/g 560 2700

I8 | EEE AR I 1e/el3.6 3.8

ENES ue/g|160 530
SERRE mg/g
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